(>
svPinteract

HT-2 (Ch.14 Drawing and using linear graphs)

Choose one of the shaded squares below.

Move (in any direction, including diagonally) to the neighbouring
square that has an expression equivalent to the one on your chosen square.

+  Now do the same from your new square, except that you can’t visit the
same square twice.

As you go you will spell out a word. What is it?

*  Repeat for the remaining two shaded squares.
What words do you spell?
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10— (2x-2) 8 — 2x 3x—(6—2x) 7x — (4x - 6) 3(x+2)
12 — 2x (5x+4)—(2x=2) | (4x+8)—(x+2)| 4x+1)—(7-x) 93*x+2
24— 4
6% + 6 26— ) =T | Gx47) + (2x-1) | (6x+4) — (x+ 10)

(x+6)+ (2x-3)

T

2x—1)+ (x+7)

R

(x+9)-(3-2x)

U

14— (2 + 2x)

P

(8x—14) - (3x-38)

R

5-(2x-7)

E

8+ (4-2x)

T

12— 12x

Y

(10 —4x) — (4 - 7x)

H

(x+3)+ (4x-9)
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